Vocabulary

1 xintercept: -

L A Standards ~
AF33 . .

Finding Intercepts |

}"To fmd the y-mteroept of al

To find the xintercept of a line, substitute O for
i aE equatton of the hne and solve fo

equa’uon of the line and solve for

EXAMPLE 1

1. To find the

y=%xﬁ6

Finding Intercepts

lety=0 and solve for x

Find the intercepts of the graph of y = % x— 6.

2. To find the | yeintercept
let x = 0 and solve for )
3

y=73%x—6
y= iO _ 5
y = 0 -6

Remember that theL
intercepts of a line are

numbers, not points.
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'u$ing fntercepts to Graph a Lineg

@ Graph the ljine with an Xx-intercept of —1anda y—,intercept of —4,

i ,The,xiinrtercept IS =1 g

§ S0 plot the pomt

- Draw a line t_h_r_o_ugh_ _the_[_two__-points_.:_' :

) Fmd the mtercepts of the graph of the equatlon o ;
'-'Then graph the Ime using the mtercepts ' ' i
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DVDs At a video store, used DVDs cost $5 and new DVDs cost $15. :;
You spend $50 at the v:deo store. Wnte an equatlon |n two varlables s

_ Totai amount
' spent

3. Represent the amount spent.on nhew DVDs as fhe product of the

cost per new DVD and the number of DVDs y you buy:

aithetn e

4. Write the. equation : Thetotal amount spent;;ﬁ5$59 is equal tothe sum of

amount spent on

DVD \)

{ DVDs and the amount spent on A

- 650"

Answer: The equation

5x+15 models the situation described.
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The equation is
graphed only in the
first quadrant because
nedative values of x

Homework

et So the 'poin'ts

and y do not make _
Sense in this situation.

o WTTT® using and Interpreting Intercepts

Fundraising You sell pizzas and subs to raise money for a field trip.
Each pizza sells for $4 and each sub sells for $6. You raise $60. Graph
the equation 4x + 6y = 60, where X is the number of pizzas you sell and
' f subs you sell. What do the intercepts represent’

yis*thréj;hum:beir"f ubs.y

| soution

1. Find the xintercept. 2. Find the pintercept.
To find the xintercept, _ . To find the }&In_terce:p_t,_ _

et | 0 and solve for.

3. Graph the equation. The xintercept is

*and draw a line segment through them.

Answer: The xintercept represents

nber of pizzas you sell if you sell only pizzas |

The yintercept represents

[the number of subs you sl if you sl oy Subs],
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